OrthoSolutions (@

Group

&

UDI Cross Reference Sheet

PLATING SYSTE

NOTE: When reproducing, print quality affects the integrity of the 2D GS1 DataMatrix. Print at highest resolution possible

PATIENT NAME

DATE

IMAGE |PART NUMBER

DESCRIPTION

GTIN (HRI)

GTIN
(AIDC)

QTY |LOT NUMBER

IMPLANTS

0S702708-NS

LOCKING SCREW 2.7 X 08MM

(01)05055662963519

0S702710-NS

LOCKING SCREW 2.7 X 10MM

(01)05055662963526

08702712-NS

LOCKING SCREW 2.7 X 12MM

(01)05055662963533

0S702714-NS

LOCKING SCREW 2.7 X 14MM

(01)05055662963540

08702716-NS

LOCKING SCREW 2.7 X 16MM

(01)05055662963557

0S702718-NS

LOCKING SCREW 2.7 X 18MM

(01)05055662963564

0S8702720-NS

LOCKING SCREW 2.7 X 20MM

(01)05055662963571

0S702722-NS

LOCKING SCREW 2.7 X 22MM

(01)05055662963588

08702724-NS

LOCKING SCREW 2.7 X 24MM

(01)05055662963595

0S702726-NS

LOCKING SCREW 2.7 X 26MM

(01)05055662963601

08702728-NS

LOCKING SCREW 2.7 X 28MM

(01)05055662963618

0S702730-NS

LOCKING SCREW 2.7 X 30MM

(01)05055662963625

08702732-NS

LOCKING SCREW 2.7 X 32MM

(01)05055662963632

0S702734-NS

LOCKING SCREW 2.7 X 34MM

(01)05055662963649

08702736-NS

LOCKING SCREW 2.7 X 36MM

(01)05055662963656

0S702738-NS

LOCKING SCREW 2.7 X 38MM

(01)05055662963663

0S8702740-NS

LOCKING SCREW 2.7 X 40MM

(01)05055662963670

0S702745-NS

LOCKING SCREW, 2.7 X 45 MM

(01)05055662968507

0S702750-NS

LOCKING SCREW, 2.7 X 50 MM

(01)05055662968514

0S702755-NS

LOCKING SCREW, 2.7 X 55 MM

(01)05055662968521

0OS703510-NS

LOCKING SCREW, 3.5 X 10MM

(01)05055662963854

0S703512-NS

LOCKING SCREW, 3.5 X 12MM

(01)05055662963861

0S703514-NS

LOCKING SCREW, 3.5 X 14MM

(01)05055662963878

0S703516-NS

LOCKING SCREW, 3.5 X 16MM

(01)05055662963885

sl balelsl e 2ilseen il

:

0OS703518-NS

LOCKING SCREW, 3.5 X 18MM

(01)05055662963892

0S703520-NS

LOCKING SCREW, 3.5 X 20MM

(01)05055662963908

0S703522-NS

LOCKING SCREW, 3.5 X 22MM

(01)05055662963915

0S703524-NS

LOCKING SCREW, 3.5 X 24MM

(01)05055662963922

0S703526-NS

LOCKING SCREW, 3.5 X 26MM

(01)05055662963939

0S703528-NS

LOCKING SCREW, 3.5 X 28MM

(01)05055662963946

0OS703530-NS

LOCKING SCREW, 3.5 X 30MM

(01)05055662963953

WREEERR

Doc. Ref.: F32.2.4

Issue No.: 03

Date Effective: 28-Nov-2022

Proj. Ref.: DCR 926

Page 1

VOLITION

of 7



OrthoSolutions ¢

>

<

Group

UDI Cross Reference Sheet

LIT
==
p

1 ION

LATING SYSTEM

0S703532-NS

LOCKING SCREW, 3.5 X 32MM

(01)05055662963960

0S703534-NS

LOCKING SCREW, 3.5 X 34MM

(01)05055662963977

0S703536-NS

LOCKING SCREW, 3.5 X 36MM

(01)05055662963984

0S703538-NS

LOCKING SCREW, 3.5 X 38MM

(01)05055662963991

0OS703540-NS

LOCKING SCREW, 3.5 X 40MM

(01)05055662964004

0S703542-NS

LOCKING SCREW, 3.5 X 42MM

(01)05055662964011

0S703544-NS

LOCKING SCREW, 3.5 X 44MM

(01)05055662964028

;%%ﬁ%%%%?§

0S703546-NS

LOCKING SCREW, 3.5 X 46MM

(01)05055662964035

'
o

0S703548-NS

LOCKING SCREW, 3.5 X 48MM

(01)05055662964042

0S703550-NS

LOCKING SCREW, 3.5 X 50MM

(01)05055662964059

0OS703555-NS

LOCKING SCREW, 3.5 X 55MM

(01)05055662964066

R e

0S703560-NS

LOCKING SCREW, 3.5 X 60MM

(01)05055662964073

OS704010-NS

LOCKING SCREW 4.0 X 10MM

(01)05055662964318

0S704012-NS

LOCKING SCREW 4.0 X 12MM

(01)05055662964325

0OS704014-NS

LOCKING SCREW 4.0 X 14MM

(01)05055662964332

0S704016-NS

LOCKING SCREW 4.0 X 16MM

(01)05055662964349

0OS704018-NS

LOCKING SCREW 4.0 X 18MM

(01)05055662964356

0S704020-NS

LOCKING SCREW 4.0 X 20MM

(01)05055662964363

0OS704022-NS

LOCKING SCREW 4.0 X 22MM

(01)05055662964370

=
=
=
&
2
=
2

0S704024-NS

LOCKING SCREW 4.0 X 24MM

(01)05055662964387

*

L1

0OS704026-NS

LOCKING SCREW 4.0 X 26MM

(01)05055662964394

s

&

0S704028-NS

LOCKING SCREW 4.0 X 28MM

(01)05055662964400

OS704030-NS

LOCKING SCREW 4.0 X 30MM

(01)05055662964417

0S704032-NS

LOCKING SCREW 4.0 X 32MM

(01)05055662964424

0OS704034-NS

LOCKING SCREW 4.0 X 34MM

(01)05055662964431

0S704036-NS

LOCKING SCREW 4.0 X 36MM

(01)05055662964448

0OS704038-NS

LOCKING SCREW 4.0 X 38MM

(01)05055662964455

0S704040-NS

LOCKING SCREW 4.0 X 40MM

(01)05055662964462

0OS704042-NS

LOCKING SCREW 4.0 X 42MM

(01)05055662964479

0S704044-NS

LOCKING SCREW 4.0 X 44MM

(01)05055662964486

OS704046-NS

LOCKING SCREW 4.0 X 46MM

(01)05055662964493

HREEREEEEER

0S704048-NS

LOCKING SCREW 4.0 X 48MM

(01)05055662964509

OS704050-NS

LOCKING SCREW 4.0 X 50MM

(01)05055662964516

-

T,

0S704052-NS

LOCKING SCREW 4.0 X 52MM

(01)05055662968033

OS704054-NS

LOCKING SCREW 4.0 X 54MM

(01)05055662968040

0S704055-NS

LOCKING SCREW 4.0 X 55MM

(01)05055662964523

55
=
=

Doc. Ref.: F32.2.4

Issue No.: 03

Date Effective: 28-Nov-2022

Proj. Ref.: DCR 926

Page 2 of 7



OrthoSolutions (@

N
Group

UDI Cross Reference Sheet

LIT
==
p

1 ION

LATING SYSTEM

0OS704056-NS

LOCKING SCREW 4.0 X 56MM

(01)05055662968057

0S704058-NS

LOCKING SCREW 4.0 X 58MM

(01)05055662968064

OS704060-NS

LOCKING SCREW 4.0 X 60MM

(01)05055662964530

0S712708-NS

NON-LOCKING SCREW 2.7 X 08MM

(01)05055662963687

0OS712710-NS

NON-LOCKING SCREW 2.7 X 10MM

(01)05055662963694

0S712712-NS

NON-LOCKING SCREW 2.7 X 12MM

(01)05055662963700

0OS712714-NS

NON-LOCKING SCREW 2.7 X 14MM

(01)05055662963717

0S712716-NS

NON-LOCKING SCREW 2.7 X 16MM

(01)05055662963724

0OS712718-NS

NON-LOCKING SCREW 2.7 X 18MM

(01)05055662963731

0S712720-NS

NON-LOCKING SCREW 2.7 X 20MM

(01)05055662963748

0S712722-NS

NON-LOCKING SCREW 2.7 X 22MM

(01)05055662963755

0S712724-NS

NON-LOCKING SCREW 2.7 X 24MM

(01)05055662963762

0OS712726-NS

NON-LOCKING SCREW 2.7 X 26MM

(01)05055662963779

0S712728-NS

NON-LOCKING SCREW 2.7 X 28MM

(01)05055662963786

0S712730-NS

NON-LOCKING SCREW 2.7 X 30MM

(01)05055662963793

0S712732-NS

NON-LOCKING SCREW 2.7 X 32MM

(01)05055662963809

0S712734-NS

NON-LOCKING SCREW 2.7 X 34MM

(01)05055662963816

HEERRRRRERRRRRREER \6

0S712736-NS

NON-LOCKING SCREW 2.7 X 36MM

(01)05055662963823

0S712738-NS

NON-LOCKING SCREW 2.7 X 38MM

(01)05055662963830

0S712740-NS

NON-LOCKING SCREW 2.7 X 40MM

(01)05055662963847

OS712745-NS

NON-LOCKING SCREW, 2.7 X 45 MM

(01)05055662968477

0S712750-NS

NON-LOCKING SCREW, 2.7 X 50 MM

(01)05055662968484

0OS712755-NS

NON-LOCKING SCREW, 2.7 X 55 MM

(01)05055662968491

0S713510-NS

NON-LOCKING SCREW, 3.5 X 10MM

(01)05055662964080

0S713512-NS

NON-LOCKING SCREW, 3.5 X 12MM

(01)05055662964097

0S713514-NS

NON-LOCKING SCREW, 3.5 X 14MM

(01)05055662964103

0S713516-NS

NON-LOCKING SCREW, 3.5 X 16MM

(01)05055662964110

0S713518-NS

NON-LOCKING SCREW, 3.5 X 18MM

(01)05055662964127

0S713520-NS

NON-LOCKING SCREW, 3.5 X 20MM

(01)05055662964134

0S713522-NS

NON-LOCKING SCREW, 3.5 X 22MM

(01)05055662964141

0S713524-NS

NON-LOCKING SCREW, 3.5 X 24MM

(01)05055662964158

0S713526-NS

NON-LOCKING SCREW, 3.5 X 26MM

(01)05055662964165

0S713528-NS

NON-LOCKING SCREW, 3.5 X 28MM

(01)05055662964172

0S713530-NS

NON-LOCKING SCREW, 3.5 X 30MM

(01)05055662964189

0S713532-NS

NON-LOCKING SCREW, 3.5 X 32MM

(01)05055662964196

AR R R

Doc. Ref.: F32.2.4

Issue No.: 03

Date Effective: 28-Nov-2022

Proj. Ref.: DCR 926

Page 3 of 7



OrthoSolutions (@ OLITION
- Q/ UDI Cross Reference Sheet A\ /4 =
Aroup PLATING SYSTEM
0S713534-NS NON-LOCKING SCREW, 3.5 X 34MM (01)05055662964202 ﬁ
0S713536-NS NON-LOCKING SCREW, 3.5 X 36MM (01)05055662964219 ﬁ
0S713538-NS NON-LOCKING SCREW, 3.5 X 38MM (01)05055662964226 ﬁ
=
0S713540-NS NON-LOCKING SCREW, 3.5 X 40MM (01)05055662964233 %
0S713542-NS NON-LOCKING SCREW, 3.5 X 42MM (01)05055662964240 ﬁ
)
0S713544-NS NON-LOCKING SCREW, 3.5 X 44MM (01)05055662964257 ﬁ
0S713546-NS NON-LOCKING SCREW, 3.5 X 46MM (01)05055662964264 %
0S713548-NS NON-LOCKING SCREW, 3.5 X 48MM (01)05055662964271 ﬁ
0S713550-NS NON-LOCKING SCREW, 3.5 X 50MM (01)05055662964288 %
0OS713555-NS NON-LOCKING SCREW, 3.5 X 55MM (01)05055662964295 %
0OS713555-NS NON-LOCKING SCREW, 3.5 X 55MM (01)05055662964295 @
0OS713555-NS NON-LOCKING SCREW, 3.5 X 55MM (01)05055662964295 %
0S713560-NS NON-LOCKING SCREW, 3.5 X 60MM (01)05055662964301 ﬁ
0S713560-NS NON-LOCKING SCREW, 3.5 X 60MM (01)05055662964301 %
0OS713560-NS NON-LOCKING SCREW, 3.5 X 60MM (01)05055662964301 ﬁ
0S714010-NS NON-LOCKING SCREW 4.0 X 10MM (01)05055662964547 ﬁ
]
0S714012-NS NON-LOCKING SCREW 4.0 X 12MM (01)05055662964554 %
~
0S714014-NS NON-LOCKING SCREW 4.0 X 14MM (01)05055662964561 %
0S714016-NS NON-LOCKING SCREW 4.0 X 16MM (01)05055662964578 @
0S714018-NS NON-LOCKING SCREW 4.0 X 18MM (01)05055662964585 ﬁ
0S714020-NS NON-LOCKING SCREW 4.0 X 20MM (01)05055662964592 %
Y]
0S714022-NS NON-LOCKING SCREW 4.0 X 22MM (01)05055662964608 %
=
0S714024-NS NON-LOCKING SCREW 4.0 X 24MM (01)05055662964615

=
0S714026-NS NON-LOCKING SCREW 4.0 X 26 MM (01)05055662964622 %
o
0S714028-NS NON-LOCKING SCREW 4.0 X 28MM (01)05055662964639 E
7
0S714030-NS NON-LOCKING SCREW 4.0 X 30MM (01)05055662964646 %
N
0S714032-NS NON-LOCKING SCREW 4.0 X 32MM (01)05055662964653 %
—

0S714034-NS NON-LOCKING SCREW 4.0 X 34MM (01)05055662964660 h
7
0S714036-NS NON-LOCKING SCREW 4.0 X 36MM (01)05055662964677 %
=
0S714038-NS NON-LOCKING SCREW 4.0 X 38MM (01)05055662964684 %
S
0S714040-NS NON-LOCKING SCREW 4.0 X 40MM (01)05055662964691 5

ok

0S714042-NS NON-LOCKING SCREW 4.0 X 42MM (01)05055662964707 #;';
0S714044-NS NON-LOCKING SCREW 4.0 X 44MM (01)05055662964714 %
0S714046-NS NON-LOCKING SCREW 4.0 X 46MM (01)05055662964721 ﬁ
L

0S714048-NS NON-LOCKING SCREW 4.0 X 48MM (01)05055662964738 #p
[ b

0S714050-NS NON-LOCKING SCREW 4.0 X 50MM (01)05055662964745 1:1-"

Doc. Ref.: F32.2.4 Issue No.: 03 Date Effective: 28-Nov-2022 Proj. Ref.: DCR 926 Page 4 of 7



OrthoSolutions (@

N
Group

UDI Cross Reference Sheet

0S714052-NS

NON-LOCKING SCREW 4.0 X 52MM

(01)05055662967999

0S714054-NS

NON-LOCKING SCREW 4.0 X 54MM

(01)05055662968002

0OS714055-NS

NON-LOCKING SCREW 4.0 X 55MM

(01)05055662964752

0S714056-NS

NON-LOCKING SCREW 4.0 X 56MM

(01)05055662968019

0S714058-NS

NON-LOCKING SCREW 4.0 X 58MM

(01)05055662968026

0S714060-NS

NON-LOCKING SCREW 4.0 X 60MM

(01)05055662964769

OS710000-NS

FLAT WASHER FOR 2.7-4.0MM NON-LOCKING SCREWS

(01)05055662964844

0S733300-NS

SIMPLE PLATE, 2-HOLE, SHORT

(01)05055662966893

0OS733301-NS

SIMPLE PLATE, 2-HOLE, LONG

(01)05055662966909

0S733302-NS

SIMPLE PLATE, 2-HOLE, DYNAMIC

(01)05055662966916

0OS733303-NS

SIMPLE PLATE, 3-HOLE

(01)05055662966923

0S733304-NS

SIMPLE PLATE, 3-HOLE, DYNAMIC

(01)05055662966930

OS733305-NS

SIMPLE PLATE, 4 HOLE

(01)05055662966947

0S733306-NS

SIMPLE PLATE, 4-HOLE, DYNAMIC

(01)05055662966954

0OS733308-NS

SIMPLE PLATE, 6-HOLE, DYNAMIC

(01)05055662966961

0S733309-NS

SIMPLE PLATE, 8-HOLE, DYNAMIC

(01)05055662966978

0OS733400-NS

BOX PLATE, SMALL SQUARE

(01)05055662966985

0S733500-NS

SPLIT PLATE, NARROW, SHORT LEG

(01)05055662966992

L)

@ ~y) |0S733502-NS

SPLIT PLATE, NARROW, LONG LEG

(01)05055662967005

0S733505-NS

SPLIT PLATE, 3-HOLE

(01)05055662967012

0OS733600-NS

UNIVERSAL PLATE SHORT

(01)05055662967029

0S733601-NS

UNIVERSAL PLATE LONG

(01)05055662967036

OS733100A-NS

Y-PLATE, MEDIUM ALPHA

(01)05055662967043

0S733100B-NS

Y-PLATE, MEDIUM BETA

(01)05055662967050

OS733101A-NS

Y-PLATE, LONG ALPHA

(01)05055662967067

0S733101B-NS

Y-PLATE, LONG BETA

(01)05055662967074

0S733201-NS

T-PLATE, MEDIUM

(01)05055662967081

0S8733202-NS

T-PLATE, LONG

(01)05055662967098

0OS733203-NS

T-PLATE, EXTRA LONG

(01)05055662967104

0S732010R-NS

MTPJ PLATE, INLINE RIGHT

(01)05055662967111

0OS732010L-NS

MTPJ PLATE, INLINE LEFT

(01)05055662967128

0S732011R-NS

MTPJ PLATE, INLINE LONG RIGHT

(01)05055662967135

0OS732011L-NS

MTPJ PLATE, INLINE LONG LEFT

(01)05055662967142

0S732020R-NS

MTPJ PLATE, NARROW RIGHT

(01)05055662967159

OS732020L-NS

MTPJ PLATE, NARROW LEFT

(01)05055662967166

0S732021R-NS

MTPJ PLATE, STANDARD RIGHT

(01)05055662967173

Doc. Ref.: F32.2.4

Issue No.: 03

Date Effective: 28-Nov-2022

Proj. Ref.: DCR 926

Page 5 of 7



OrthoSolutions (7 L|p| ION

o &/ UDI Cross Reference Sheet V/O
Aroup LATING SYSTEM
0S8732021L-NS MTPJ PLATE, STANDARD LEFT (01)05055662967180 ﬁ
g
0S732022R-NS MTPJ PLATE, SHORT RIGHT (01)05055662968187 o Ft
0S8732022L-NS MTPJ PLATE, SHORT LEFT (01)05055662968194 %
0OS732030R-NS MTPJ PLATE, REVISION RIGHT (01)05055662967197 %
o
0S732030L-NS MTPJ PLATE, REVISION LEFT (01)05055662967203 E%
T
0S741022-NS 3.5MM X 22MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967210 Eﬁ
0S741024-NS 3.5MM X 24MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967227 ﬁ
0S741026-NS 3.5MM X 26MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967234 ﬁ
o
0S741028-NS 3.5MM X 28MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967241 %
o
0S741030-NS 3.5MM X 30MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967258 %
0S741032-NS 3.5MM X 32MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967265 %
T
0S741034-NS 3.5MM X 34MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967272 %
0S741036-NS 3.5MM X 36MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967289 ﬁ
@ 0S741038-NS 3.5MM X 38MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967296 %
0S741040-NS 3.5MM X 40MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967302 E'.-E—F_
0S741042-NS 3.5MM X 42MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967319 %
0S741044-NS 3.5MM X 44MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967326 ﬁ
e
0S741046-NS 3.5MM X 46MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967333 <
0S741048-NS 3.5MM X 48MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967340 ﬁ
0S741050-NS 3.5MM X 50MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967357 ﬁ
H ;
TA’ 0S741055-NS 3.5MM X 55MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967364 ﬁ
T
0S741060-NS 3.5MM X 60MM HEADLESS CANNULATED SCREW PARTIALLY THREADED (01)05055662967371 %
13
- 0S740022-NS 3.5MM X 22MM HEADED CANNULATED SCREW PARTIALLY THREADED (01)05055662967388 £
1 0S740024-NS 3.5MM X 24MM HEADED CANNULATED SCREW PARTIALLY THREADED (01)05055662967395 %
=
0S740026-NS 3.5MM X 26MM HEADED CANNULATED SCREW PARTIALLY THREADED (01)05055662967401 ﬁ
0S740028-NS 3.5MM X 28MM HEADED CANNULATED SCREW PARTIALLY THREADED (01)05055662967418 ﬁ
0S740030-NS 3.5MM X 30MM HEADED CANNULATED SCREW PARTIALLY THREADED (01)05055662967425 %
0S740032-NS 3.5MM X 32MM HEADED CANNULATED SCREW PARTIALLY THREADED (01)05055662967432 ﬁ
0S740034-NS 3.5MM X 34MM HEADED CANNULATED SCREW PARTIALLY THREADED (01)05055662967449 %
e
0S740036-NS 3.5MM X 36MM HEADED CANNULATED SCREW PARTIALLY THREADED (01)05055662967456 %
=
0S740038-NS 3.5MM X 38MM HEADED CANNULATED SCREW PARTIALLY THREADED (01)05055662967463 %
0S740040-NS 3.5MM X 40MM HEADED CANNULATED SCREW PARTIALLY THREADED (01)05055662967470 ﬁ
0S740042-NS 3.5MM X 42MM HEADED CANNULATED SCREW PARTIALLY THREADED (01)05055662967487 %

Doc. Ref.: F32.2.4 Issue No.: 03 Date Effective: 28-Nov-2022 Proj. Ref.: DCR 926 Page 6 of 7



OrthoSolutions ¢

>

<

UDI Cross Reference Sheet

Group

L|
==
p

TION

LATING SYSTEM

0OS740044-NS

3.5MM X 44MM HEADED CANNULATED SCREW PARTIALLY THREADED

(01)05055662967494

0OS740046-NS

3.5MM X 46MM HEADED CANNULATED SCREW PARTIALLY THREADED

(01)05055662967500

0OS740048-NS

3.5MM X 48MM HEADED CANNULATED SCREW PARTIALLY THREADED

(01)05055662967517

OS740050-NS

3.5MM X 50MM HEADED CANNULATED SCREW PARTIALLY THREADED

(01)05055662967524

OS740055-NS

3.5MM X 55MM HEADED CANNULATED SCREW PARTIALLY THREADED

(01)05055662967531

OS740060-NS

3.5MM X 60MM HEADED CANNULATED SCREW PARTIALLY THREADED

(01)05055662967548

OS740100-NS

WASHER FOR 3.5MM HEADED CANN. SCREW

(01)05055662967555

CONSUMABLES

08292220-NS

K-WIRE, TROCAR TIP 2.0MM X 200MM

(01)05055662966343

08722116-NS

OLIVE WIRE, THREADED TROCAR TIP

(01)05055662963182

“los722216-Ns

OLIVE WIRE, SMOOTH TROCAR TIP

(01)05055662968408

e wzﬁwwo

N 0S8722000-NS

COUNTERSINK FOR 2.7-4.0MM NON-LOCKING SCREWS

(01)05055662963243

08722019-NS

DRILL BIT, 1.9 X 140MM CALIBRATED AO QC

(01)05055662963199

B

08722024-NS

DRILL BIT, 2.4 X 160MM CALIBRATED AO QC

(01)05055662963205

/ 08722027-NS

DRILL BIT, 2.7 X 160MM CALIBRATED AO QC

(01)05055662963212

08722035-NS

DRILL BIT, 3.5 X 125MM AO QC

(01)05055662963229

08722040-NS

DRILL BIT, 4.0 X 125MM AO QC

(01)05055662963236

0S740426-NS

CANNULATED DRILL BIT, @2.6MM FOR 3.5 SCREWS

(01)05055662967593

| =—=|0s722118ns

FENESTRATOR, @1.8MM

(01)05055662967814

0S740300-NS

COUNTERSINK FOR 3.5MM HEADED SCREW CANNULATED AO QC

(01)05055662967562

0S741300-NS

COUNTERSINK FOR 3.5MM HEADLESS SCREW CANNULATED AO QC

(01)05055662967579

0S740214-NS

GUIDE WIRE, @1.4MM FOR 3.5 CANN SCREWS

(01)05055662967586

0S740224-NS

GUIDE WIRE, @1.4MM X 150MM, SMOOTH FOR 3.5 CANN SCREWS

(01)05055662968538

MEERER

Doc. Ref.: F32.2.4

Issue No.: 03

Date Effective: 28-Nov-2022

Proj. Ref.: DCR 926

Page 7 of 7



	Sheet1

